@ Lower Suppoit Rall

@ Upper Trough Top

Fit 2no M8 x 20 flxing bolt

FIt 1no M8 x 65nTm flxIng bolts

Note that trough
bracket s fixed
In front of upper
suppost rall

Upper Support Rall

"

Flt 1no M8 x 65mm fixing boits

@ Upper Trough Bottom

F .

o

Flt 4no M8 x20mm fixIng bolt

3 Irs
L_ 305 i i
s
305

© Lower Trough Top

@ Lower Trough Bottom

Note that plate Is
flxed In front of trough
bracket and upper

i rall

Flt 4no M8 x 20mm fixIng bolt Flt 2no M8 x 20mm fixIng bolt

@ Lower Support Rall Joln

FIt 1no M8 x 65mm & 1no M8 x 20mm
flxing bolt

Fully Installed
AIG

* L-Shapedleg suppot must be Included atleastevery 6 blke positons

X sales@pittmantraffic.com
® (01) 531 2111

Use 2 FixIng plates per join
({both upper and lower supportrals)

traffic = safety
equipment




